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0.75 6/25/0.08 1.4 0.8 3.0 94| 99108 |11.7|128[13.9| 148|169 |175 [19.3 [21.3 [23.4 | 250
1.25 6/42/0.08 1.8 0.8 3.4 |104|109]|11.8|130 142|152 |165|19.0|19.3 |21.4 |236 |26.1 |28.0
2 6/67/0.08 2.3 0.8 39 |11.4|122|132 | 145|159 |17.3|185 (213|216 |24.1 |26.7 | 295 |31.6
. 6/51/0.12 3.0 0.8 46 |13.0[139]151 (166 | 18.2
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0.75 6/25/0.08 1.4 0.8 3.1 9.6 (101|111 | 122|181 | 142|162 175|179 | 198 [21.8 |24.2 | 25,9
1.25 6/42/0.08 1.8 0.8 35 | 106 |11.1 122|133 | 145|158 | 16.8|19.4 | 19.7 |21.9 |24.4 | 26.7 | 28.6
2 6/67/0.08 2.3 0.8 40 (116|124 (135|148 | 162|176 |19.0|21.8 |22.0 |246 |27.4 |30.1 | 325
35 6/51/0.12 3.0 0.8 47 |132 (141|155 |16.9 | 185 |20.1 |21.8 | 251 |25.3 |28.3 |31.5 |34.8 |37.3
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HERR
mm? 210y 30 40 50 (S 710 80\ 1010 1210 160 2010 2410\ 30:L
0.75 105 125 150 175 205 240 270 345 345 435 535 630 750
1.25 135 155 190 225 270 305 365 455 450 575 705 845 1010
2 170 205 245 300 355 415 470 600 600 780 960 1150 1385
8.6 230 285 350 420 500
] B H B 2 ke/km
WiERS
mm? 20 30 410 50 B/0 710 80 100 1210 160 2010 2410\ 300
0.75 120 135 165 195 220 255 290 370 385 480 715 745 835
1.25 150 170 205 245 285 335 375 475 495 625 785 935 1105
2 185 220 265 320 375 435 500 625 660 840 1040 1255 1515
815 2b5 305 375 445 525 615 710 900 945 1220 1515 1835 2185




